Chapter 13. Statistics

Ex. 13.3

Answer 1CU.

A histogram 1 a bar graph m which the data are organized mto equal mtervals. The
horzontal axis shows the range of the data values separated mto measurement classes,
and the vertical axis shows the mumber of values, or the frequency, m each class.

To describe how to create a histogram, consider an example of scores for a 50 pomt
mathematics test.

40 34 23 41 39 38 39 34 43 32
44 41 39 22 47 36 25 41 30 28

step - Identify the greatest and least values m the data set.
The test scores range from 22 to 47 pomts.

Step II: Create measurement classes of equal width
Consider 10 pomt mterval for each class from 20 to 50.

step III- Create a frequency table usmg the measurement classes.

Score Imtervals Tally Frequency
20=5<30 I 4
30540 IIIIIII 9
40=5 <50 11 7.

step IV: Draw the hstogram.

Mathematics Test Scores

Frequency

20-30 30-40 40-50
Score




Answer 2CU.
In a histogram, a measurement class g4—p contains all values vsuchthat g<v < b.

Therefore the compound ineguality to represent all the values vincluded ina 50—60

measurement class is |50 < v < 60/-

Answer 3CU.

For a data set, if a histogram shows the hewht decreases then the dstribution = skewed to
the night or skewed m the dwrection ofthe tail The majorty of the data set cluster at the
lower end of the dstribution; the tail = to the rght.

Consider an example of scores for a 50 pomt mathematics test.
20 23 23 21 29 28 39 34 43 32

24 41 39 22 47 36 25 41 30 28

Step I Identify the greatest and least values m the data set.
The test scores range from 21 to 47 pomts.

Step II: Create measurement classes of equal width.
Consider 10 pomt mterval for each class from 20 to 50.

step III: Create a frequency table usmg the measurement classes.

Score Intervals Talty Frequency
20=5<30 TIIITIIII 10
3055 <40 ITIIIT 6
40 =5 <50 1T 4

Step IV: Draw the histogram

Mathematics Test Scores

12

10

2]

Frequency
o

20-30 30-40 40-50
Score

Here heights are decreases to the nght. Therefore the histogram s skewed to the nght.



Answer 4CU.
Consider the histogram

Money Spent per Family During the

Holiday Weekend
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Money Spent (dollars)

Create a frequency table from the histogram

Intervals | Prequency
0-50 2
50-100 2
100-150 4
150-200 8
200-250 9
250-300 6
300-350 6
350-400 3
400-450 3
450-500 1

Add the frequencies to determme the mumber of farmulies.
2424+44+8494+6+6+5+3+1=46

There are 46 families; therefore the middle valie i between 23™ and 24 data values.

Both the data values are located m the 200-250 measurement class. Therefore the median

occurs m the 200-250 measurement class.



Answer 5CU.
Consider the histogram

Money Spent per Family During the
Holiday Weekend
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Money Spent (dollars)

Create a frequency table from the histogram

Intervals | Frequency
0-50 2
50-100 2
100-150 4
150-200 8
200-250 9
250-300 6
300-350 6
350-400 5
400-450 3
450-500 1




1. Only one family spent above 250 dollars. It s lkely that one family spernt the
highest dollars.

2. Histogram i symmetrical m shape. Most of the family spent 150-400 dollars m
the weekend.

3. There & no gap.

Answer 6CU.
Consider the histograms of Mathematical Test Scores for Group A

Mathematics Test Scores: Group A
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25-30 30-35 35-40 40-45 45-50 50-55
Score

Add the frequencies to determmne the mumber of students.
O0+1+5+12+8+5=31
There are 31 students: therefore the middle valie & 16™ data vahe.
The data value & located m the 40-45 measurement class. Therefore the median occurs m
the 40-45 measurement class.



Consider the histograms of Mathematical Test Scores for Group B.

Mathematics Test Scores: Group B
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Score

Add the frequencies to detenmme the mumber of students.

54+3+449+4+1=26
There are 26 students: therefore the middle vale is between 13 and 14™ data values.
Both the data values are located m the 40-45 measurement class. Therefore the medan

occurs m the 40-45 measurement class.

Answer 7CU.
Consider the histograms of Mathematical Test Scores for Group A

Mathematics Test Scores: Group A

14
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Frequency
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Consider the listograms of Mathematical Test Scores for Group B.

Mathematics Test Scores: Group B
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1. The Group A test scores are somewhat more symmetrical m appearance than the

group B test scores.

2. There are 25 of 31 scores m group A that are 40 or greater while only 14 of 26
scores m Group B that are 40 or greater.

3. In Group A there are no scores less than 30 whie m Group B; there are 5 scores
less than 30.

Therefore Group A performed better overall on the test.

Answer 8CU.
Step 1: The greatest and the least values in the data set is identified.

The number of passengers ranges from 33 millions to 80 millions.
Step 2: Measurement classes of equal width are created.
For these data, measurement classes from 30 to 80 with a 5-point interval are used.

Step 3: A frequency table using the measurement classes is created.



Intervals Tally | Frequency
30<s<35| Il |3
35<s<40 | J |6
40<s <45 | 1
45<5 <50 0
50<s5s<55 0
55<5<60 0
60<s <65 | 1
65<5<70 | | 1
T0<s<75] | 1
7555 <80 0

80<s<85




The measurement classes are used to determine the scale for the horizontal axis and the
frequency values to determine the scale for the vertical axis. For each measurement class, a
rectangle is drawn as wide as the measurement class and as tall as the frequency for the
class. The axes are labelled and a descriptive title for the histogram is included.
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Answer 9CU.
The histogram shows decrease in the number of employees with increase in salary. The bulk of

the data values gather at the lower end of the distribution. Thus, the distribution is skewed to
the right or skewed in the direction of the tail. Hence, the statement (A) is correct.

The frequencies are first added to determine the number of employees.

20+8+4=32

There are 32 employees, so the middle data value is between the 16th and 17th data values.
Both the 16th and 17th data values are located in the 30-40 thousand measurement class.
Therefore, the median occurs in the 30-40 thousand measurement class. Hence, the
lstatement (B) is not correct]

As the frequency add up to 32, this implies that the graph represent 32 employees. Hence, the
statement (C) is correct.

The intervals are 30-40, 40-50 and 50-60. Thus, the width of each measurement class is $10
thousand. Hence, the statement (D) is correct.

Answer 10PA.



The frequencies are first added to determine the number of newspapers.

1343+2404+0+2=20

There are 20 newspapers, so the middle data value is between the 10th and 11th data values.
Both the 10th and 11th data values are located in the 350-600 thousands measurement class.
Therefore, the median occurs in the |35[]—EDD thﬂusands| measurement class.

The description of the distribution of the data is as given below.

- The daily circulation of only two newspapers is above 1600 thousands. It is likely that these
newspapers are the most popular.

« There are gaps in the 1100-1350 and 1350-1600 thousands measurement classes.
- The daily circulation of the most newspapers is below 600 thousands.

» The histogram shows decrease in the number of newspaper with increase in daily circulation.
The bulk of the data values gather at the lower end of the distribution. Thus, the distribution is
skewed to the right or skewed in the direction of the tail.

Answer 11PA.
The frequencies are first added to determine the number of teams.
B+543+54+3+1=25

There are 25 teams, so the middle data value is 13th data value. The 13th data value is
located in the 3400-3800 measurement class. Therefore, the median occurs in the [3400-3800
measurement class.

The description of the distribution of the data is as given below.

» The Championship point of only one team is above 5000. It is likely that this team is the
leading team.

- The Championship point of the most teams is below 4600.

« The histogram shows decrease in the number of teams with increase in Championship points.
The bulk of the data values gather at the lower end of the distribution. Thus, the distribution is
skewed to the right or skewed in the direction of the tail.

Answer 12PA.
Men’s College Basketball Leading Rebounds, 2001

The frequencies are first added to determine the number of rebounds.

546+4+2+040=17

There are 17 rebounds, so the middle data value is 9th data value. The Sth data value is
located in the 220-240 measurement class. Therefore, the median occurs in the 220-240
measurement class.



Women's College Basketball Leading Rebounds, 2001
The frequencies are first added to determine the number of rebounds.

1424+5+5+1+1=15

There are 15 rebounds, so the middle data value is 8th data value. The Bth data value is
located in the 240-260 measurement class. Therefore, the median occurs in the 240-260
measurement class.

Hence, the histogram of Women's College Basketball Leading Rebounds, 2001 has the greater
median height compared to the histogram of Men's College Basketball Leading Rebounds,
2001.

Answer 13PA.
U. 5. Presidents Age at inauguration

The frequencies are first added to determine the number of Presidents.

B+24+104+04+0+0=42

There are 42 Presidents, so the middle data value is between 21st and 22nd data value. Both
the 21st and 22nd data values are located in the 50-60 measurement class. Therefore, the
median occurs in the 50-60 measurement class.

U. 5. Presidents Age at death
The frequencies are first added to determine the number of Presidents.

245412+1145+2=37

There are 37 Presidents, so the middle data value is the 19th data value. The 19th data value
is located in the 60-70 measurement class. Therefore, the median occurs in the 60-70
measurement class.

Hence, the histogram of U. S. Presidents Age at inauguration has the greater median height
compared to the histogram of U. S. Presidents Age at death.



Answer 14PA.
Step 1: The greatest and the least values in the data set is identified.

The Students’ semester averages in a mathematics class ranges from 96.53 to 73.83.
Step 2: Measurement classes of equal width are created.
For these data, measurement classes from 70 to 100 with a 5-point interval are used.

Step 3: A frequency table using the measurement classes is created.

Intervals Tally | Frequency
70<s<75 | | 1
75<5<80 | | 2
80<s<85 | I |2

85<s5<90 | M1 |7

=

=5 <95

95<s<100 | || |2

Step 4: Drawing the histogram.

The measurement classes are used to determine the scale for the horizontal axis and the
frequency values to determine the scale for the vertical axis. For each measurement class, a
rectangle is drawn as wide as the measurement class and as tall as the frequency for the
class. The axes are labelled and a descriptive title for the histogram is included.




Answer 15PA.

Step 1: The greatest and the least values in the data set is identified.

The number of raisins found in snack-size box ranges from 53 to 105.

Step 2: Measurement classes of equal width are created.

For these data, measurement classes from 50 to 110 with a 10-point interval are used.

Step 3: A frequency table using the measurement classes is created.

Intervals Tally Frequency

50<s<60 | W1 | 14

60<s<70 | M| |5

T0< 5 <80 | 1
80<s<90 0
90<s<100 | || 3

100<s<110 | J(| |6




Step 4: Drawing the histogram.

The measurement classes are used to determine the scale for the horizontal axis and the
frequency values to determine the scale for the vertical axis. For each measurement class, a
rectangle is drawn as wide as the measurement class and as tall as the frequency for the
class. The axes are labelled and a descriptive title for the histogram is included.
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Answer 16PA.
Step 1: The greatest and the least values in the data set is identified.

The Payrolls for major league baseball teams ranges from 315 to $112.
Step 2: Measurement classes of equal width are created.
For these data, measurement classes from 10 to 120 with a 10-point interval are used.

Step 3: A frequency table using the measurement classes is created.



Intervals Tally Frequency

10< s <20 | 1
20<s<30 | M |5
30<s<40 | |l 4
40<5<50 0

50<s<60 | JHHl |10

60<s<70 | | 2
70<s<80 | I 3
80<s5<90 | | 1
90<s<100 | || 3
100<5<110 0

110<s <120 | | 1




Step 4: Drawing the histogram.

The measurement classes are used to determine the scale for the horizontal axis and the
frequency values to determine the scale for the vertical axis. For each measurement class, a
rectangle is drawn as wide as the measurement class and as tall as the frequency for the
class. The axes are labelled and a descriptive title for the histogram is included.
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Answer 17PA.
The frequency table and the histogram of the Payrolls for major League Baseball Teams in
2000 are as given below.

Intervals Tally Frequency
10<5<20 | 1
20<s<30 | M |5
30<s<40 | |l 4
40 <5 <50 0

50<s<60 | M |10

60<s<70 || -
70<s<80 | |l 3
B0 =5<90 | 1
90<s<100 | |l 3
100<s <110 0

1M0<s <120 | | 1
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The frequencies are first added to determine the number of teams.

1+5+4+0+10424+341+34+0+1=30

There are 30 teams, so the middle data value is between the 15th and 16th data values. Both
the 15th and 16th data values are located in the 50-60 measurement class. Therefore, the
median occurs in the |:'-D-5D measurement tlass|.




Answer 18PA.
The frequency table of the percent of eligible voters who voted in the 2000 Presidential Election
are as given below.

Intervals Tally Freguency

40<s<4as| M1 |6

45<5<50 | Wl |10

50<s<55 | JHII| 13

55<s<60 | WM |1

60<s<65| Wl |8

65<s<70 | [l 4

The frequencies are first added to determine the number of states.

G+10+13+1146+4=50

There are 50 states, so the middle data value is between the 25th and 26th data values. Both
the 25th and 26th data values are located in the 50-55 measurement class. Therefore, the
median occurs in the |5[J-55 measurement E:Iassl.




Answer 19PA.
Step 1: The greatest and the least values in the data set is identified.

The percent of eligible voters who voted in the 2000 Presidential Election ranges from 40.48 to
G875

Step 2: Measurement classes of equal width are created.
For these data, measurement classes from 40 to 70 with a 5-point interval are used.

Step 3: A frequency table using the measurement classes is created.

Intervals Tally Frequency

o

40<s<45| M

45<s5<50 | MMl |10

]

50<s<55 | MM I 1

55<s5<60 | W |11

60<s <65 JHT| 6

65<s<70 | |l 4

Step 4: Drawing the histogram.

The measurement classes are used to determine the scale for the horizontal axis and the
frequency values to determine the scale for the vertical axis. For each measurement class, a
rectangle is drawn as wide as the measurement class and as tall as the frequency for the
class. The axes are labelled and a descriptive title for the histogram is included.




Answer 20PA.
The histogram of the percent of eligible voters who voted in the 2000 Presidential Election is as
given below.

The distribution of the histogram is somewhat symmedtrical in shape. The median is between
the 25th and 26th data values and thus, the median is in the 50-55 measurement class.

Answer 24PA.
To find the number of employees, a frequency table using the measurement classes is created.

Intervals Frequency

0<s<2 |9

2<5<4d 12

4<s<h | M
6<s<8 |6
8<s<10 |6
10<5<12 |2

The frequencies are added to determine the number of newspapers.

9412+11464+6+2=46

Hence, there are |46 employees| represented in the graph.




Answer 25PA.

To find the number of employees, a frequency table using the measurement classes is created.

Intervals Frequency
0<s<2 |9
2<s<4 |12
4<s<6 |1
6<s<8 |6
8<s<l10 |6
10<s<12 |2

The frequencies are added to determine the number of newspapers.

9+12+11+6+6+2=46

There are 46 employees, so the middle data value is between the 23rd and 24th data values.
Both the 23rd and 24th data values are located in the 4-6 measurement class. Therefore, the
median occurs in the |4-6) measurement class.

Answer 26PA.
The histogram is to be created using graphing calculator for the following data.
5,5,6,7,9,4,10,12,13,8,15,16,13, 8

The data values are entered by the following steps.

1 (ENTRYSOLVE]  [EnTRYSOWVE] [LS Ul [enmysolve] (LS U] [enmrysowe
STAT ENTER ENTER i 5 ENTER i 5 ENTER
1 [enmvsoveE] (u o] [(evmrsonE] (w o] [enmysowE] (L4 T
ENTER L 7 ENTER | 9 ENTER 4
L1 ¥| [cataoc—| [emmrsovE] (L1 Y] (L2 z] [enmRysowve
| 1 0 ENTER 1 L 2 ENTER
L1 Y L3 i ENTRYSOLVE] (v pl [EwmysonE] (L1 Y L5 U
i 1 | 3 ENTER i 8 ENTER L 1 L 5
ENTRYSOWVE| [ L1 ¥l [Lé Vv [ ENTRYSOLVE | L1 ¥] [L3 B ENTRYSOLVE
ENTER | 1 L 6 ENTER | 1 3 ENTER
v Pl [ENTRYSOLVE|
! 8 ENTER




The histogram is plotted using the steps given below.

o Juclfe e Y

The histogram is as shown below.

Answer 27PA.

The histogram is to be created using graphing calculator for the following data.

12,14, 25, 30, 11, 35, 41, 47, 13, 18, 58, 59, 42, 13, 18

The data values are entered by the following steps.

‘eNmRYsowve| [EeNmmysowve] [ L1 vl (L2 Z (enmysowve] [ L1 ¥
ENTER ENTER I 1 | 2 ENTER 1
‘eNTRYSOLVE] (L2 z] [Ls U (enmysowve| (L3 8 (CATALOG |
ENTER L 2 5 ENTER 3 0
(L1 Y] (L1 ¥ ENTRYSOWVE| [L3 8] [Ls T ENTRYSOLVE |
L 1 L 1 ENTER | 3 i 5 ENTER
L4 T] 1 ¥ (ENTRYSOLVE] (L4 "l [u o] [ewmysonE] (L1 Y
4 1 ENTER 4 7 ENTER L 1
L3 o] [ewmysoE] (L1 ] [w r| [EvmysonE] (LS ul [w P
i 3 ENTER 1 8 ENTER L 5 8
(ENTRYSOWVE| [ LS Ul [(w Q (ENTRYSOWVE] [L4 T (L2 7] [eNmysowe]
ENTER L 5 L 9 ENTER 4 2 ENTER
L1 ¥y] [L3 i ENTRYSOLVE] [ L1 Y] (v p | ENTRY SOLVE |
i 1 3 ENTER 1 | 8 ENTER
The histogram is plotted using the steps given below.
starpwoTF1| [ENTRYSOWVE] [EwmvsowE] (@ =l ENTRYSOLVE
Y= ENTER ENTER v | 2 2 ENTER
FORMAT F2 M o] [mser ;2| [cataoc—] [8 ] L6 v CATALOG —
zoom | | 9 winpow| | 0 v 6 0
= = M ¥] [cataLoG.—| [ENTRYSOWE| [TABLE 5|
v 1 0 ENTER GRAPH




The histogram is as shown below.

Answer 28PA.
The histogram is to be created using graphing calculator for the following data.

124, 83, 81, 130, 111, 92, 178, 179, 134, 92, 133, 145, 180, 144

The data values are entered by the following steps.

157 ENTRYSOLVE| [EwTRysowve| [ L1 Y] (L2 Z] [La T] [ENTRYSOLVE
STAT ENTER ENTER 1 L 2 4 ENTER
v Pl (13 o] [ewmvsowE] (v p] (L1 v] [ewmysowE] (L1 Y]
L 8 3 ENTER L 8 L 1 ENTER | 1
(L3 8] (cataos—] [EwmRysolvE] (L1 vl (L y] (L1 v] [eNTRYSOLVE]
L 3 0 ENTER L 1 L 1 X 1 ENTER
(w al 2 z| [enmvsoeE] (L1 Y] [(u ol [v p ENTRYSOLVE |
9 2 ENTER 1 7 8 ENTER
I Y] [(u o] [w o] [(ewwmysonE] (L1 2 (E 0 L4 |
1 7 || 9 eNtER | | 1 | | 3 || 4
ENTRYSOLVE|  [w al| (L2 z] [ewmysowvE] (L1 ¥l (13 D EE B
ENTER 9 i 2 ENTER L 1 i 3 | 3
ENTRYSOLvE|  (Enmysowve] (L7 Y1 (L4 Tl (5 U] [evmysoveE] (L1 Y|
ENTER ENTER 1 4 L 5 ENTER 1
(v p| [cataoc.—] [ENmRYSOWE] (L1 Y] (L4 | L4 T ENTRYSOLVE
L 8 0 ENTER 1 4 4 ENTER

The histogram is plotted using the steps given below.

(srpiorr1|  [Enmvsone] (evmvsowe| (@0 0 =) [ | [ewmrsowe]
Y= ENTER ENTER b > (z) ENTER
(calc ra| [rormar ;2] [w o) [mecer 2] (v p| [carao—| [@ =
TRACE zoom | ([ 9 | |wwnoow | 8 | | 0O hd
(L1 Y| [w Pl [w - = (L1 Y] [w Pl [ENTRYSOLVE]
1 8 8 v 1 8 ENTER
L . L - L -, L o L .
TABLE  F5
GRAPH



The histogram is as shown below.

Answer 29PA.
The histogram is to be created using graphing calculator for the following data.

22,24,75,91,34,51,63,18,28,3.7,86,9595,36,3.7,50

The data values are entered by the following steps.

5T ENTRYSOLVE ENTRYSOWE| [L2 Z) i ' (L2 Z ENTRYSOLVE
STAT ENTER ENTER 2 2 ENTER
(L2 zl (i : m T (EeNRYSOWVE| [w ol (i . LS T
2 . 4 ENTER . 5
L. - L. - - - L. - - - L o
(ENTRYSOLVE| [w al (i : L1 v] [(enmvsoweE] (L3 el (i :
ENTER 9 _ 1 ENTER 3 -
(L4 T ‘eNTRYSOLVE| [ LS ul 1 . (L1 v| [enmysowE]| (L6 v
4 ENTER 5 . ENTER 6
" - L. > " - " - . -
(1 : L3 B (ENmRYsowveE] (LI Y| [i 1l (v Pl [enTRYSOLWVE]
. 3 ENTER 1 L 8 ENTER
[*: z]l (i i1 (v p| [EnmysoneE] (L3 o] (i 1 [(u o)
| 2 . L 8 ENTER . | 7
(ENTRYSOLVE| (v pl (i : (L6 v ENTRYSOLVE] [w al [i :
ENTER L 8 . 6 ENTER 9 .
L5 U Co T EE B 7 . (L6 v] [enmysowveE] [L3 B
5 ENTER 3 . ENTER 3
" - L . " > L -~ " >
H . M o] [EvmysoveE] (LS vl (i * 1 [cataL0G.—| [ENTRYSOLVE|
. 7 ENTER 5 | 0 ENTER
The histogram is plotted using the steps given below.
srPotr1| [ENYsove]| [ewmvsowe] [ =) 1 [enmysouve]
Y= ENTER ENTER [ 3 @ ENTER
ForRMaT i3 | [w 0 ‘enmysowve| [ Teiser r2] (L1 v]| [ewmysowe] (L1 ¥
ZOOM 9 ENTER WINDOW| | ENTER 1
[caTaloG—] [ENmvsOLVE] (L1 vl (i . (LS U] [ewmrysowE] [ ENTRYSOLVE]
0 ENTER 1 . ENTER ENTER
o = . m—
7 ENTER | | GRAPH




The histogram is as shown below.

Answer 30MYS.
Consider the matrices

-2 3 7 g 1 -1 7 -5 2

A= 0 -4 6| B= . C=10 0 3
2 3 -7

1 =5 4 -1 4 6

The size of Ais 3x3.
Thesizeof Bis 2x13.
The size of Cis 3x3.
Since the size of A and B are not same, therefore 44 B does not exist.

Thus 44+ g is impossible.

Answer 31MYS.
Consider the matrices

-2 3 7 g 1 I 7 =5 2

A= 0 -4 6| B= . C=0 0 3
2 3 -7

1 =5 4 -1 4 6

The size of Ais 3x3.
The size of Bis 2x3.
Thesize of Cis 3x3.

Since the size of A and C are same, therefore (- 4 exists.



Let 4= [a&.].,c = [c&.l. The sum of two matrices A and C of same size is defines as follows:

Aifz[aﬁ icﬂ.]

Therefore
(7 5 2| |2 3 7
C-A=10 0 3[-[0 -4 6
-1 4 6 1 -5 4
[7-(-2) -5-3 2-7
=| 0-0 0-(-4) 3-6
| -1-1 4-(-5) 6-4
[ 742 -5-3 2-7
=[0-0 0+4 3—5]
-1-1 4+5 6-4
(9 -8 -5
=0 4 -3
2 9 2
Therefore
9 -8 -5
C-A=|0 4 =3
-2 9 2
Answer 32MYS.
Consider the matrices
-2 3 7 7 =5 2
A=l 0 -4 6| B=["E . 4}:C= 0 0 3
1 -5 4 2 2 -1 4 6

Multiply & number k with a matrix A is as follows: kA =[ka&] where A =[aﬂ.]
Therefore
-5 1 -1
2B=2
2 3 -7
[2(-8) 21 2(-1)
| 2.2 23 2(-7)
[-16 2 -2
4 6 -14

-16 2 -2
Thus (2B =
4 6 -14

I




Answer 33MYS.

Consider the matrices

-2 3 7

e 1 i ¥ =5 2
A=| 0 -45_.3:{ :|,C=ﬂ{}3
1 -5 4 4 6

Multiply a number k with a matrix A is as follows:. kA4 =[ka‘.j:| where A =[a&.]

Therefore
=2 3 9
—54A=-5|0 4 o6
1 -5 4
(-5)(-2) (-5)3 (-5)7
=[ (-3)-0 (-5)(-4) (-5)-6
(51 (5)(-9) (-5)-4
10 -15 -35
=0 20 =30
-5 25 -20
10 -15 -35
Thus [-54=| 0 20 -30
-5 25 =20

Answer 34MYS.
Every 15 minutes, a CD player is taken off the assembly line and tested.

This is a random sample. Therefore it is Junbiased|

Since a CD player is taken off the assembly line according to a specific time interval 15
minutes, therefore it is a [Systematic Random Sample|

Answer 35MYS.
The division of two fractions can be converting to a multiplication of two fractions.

b d b c

Therefore

5 ;s—S_ 5 x;;-F’f
s+7 s+7 s¥T s-5




Answer 36MYS.
The division of two fractions can be converting to a multiplication of two fractions.

a ¢ a d

b d b ¢

Therefore

2m1+?m—15; 2m—3 _2m1+?m—15xm3+5m+5
m+2 "t +5m+6 m+2 2m -3

Factor each expression

2m’+Tm—15 = 2m-3 _2m'+Tm-15 m’+5m+6

m+2 o +5m+6  m+2 Im-3
_ 2m’ +10m—3m—15 xml +2m+3m+6
m+2 2m=3
_2m[m+ﬁ]—30ﬂ+5]xm{m+2]+3hn+2}
m+2 2m-3
B (2m—3){m+5]x{m+3][m+2]
m+2 2m-3

Answer 37MYS.
Consider the equation

Jy+3+5=9

To solve the equation, isolate the radical by adding -5 in both sides.
Jy+3+45-5=9-5
y+3=4
y+3=4 [Squaring both sides]
y+3=16
y=16-3  [Subtract 3 from both sides]
=13

Therefore the solution is |{13}




Answer 38MYS.
Consider the equation

Vx-2=x-4

To solve the equation, remove the radical by squaring both sides.

[ .rc—2)1=l:.1:;.'—4:|2
x-2=x"-2.x-4+4°
x—=2=x"-8x+16

x* —8x+16=x-2
X —8x+16—x42=x-2-x+2
X =9x+18=0
X' —6x—=3x+18=0
x(x—6)-3(x-6)=0
(x=6)(x=3)=0
Either y—6=00r x=3=(

x=60r x=3

Therefore the solution set is {3,5}

Answer 39MYS.
Consider the equation

13=+2w-5

To solve the equation, remove the radical by squaring both sides.

(13) =(v2w-35)
169=2w-5

169+5=2w
174 = 2w
174
—_—=w

2

w=287

Therefore the solution set is {8?}




Answer 40MYS.
Consider the dataset 2, 4, 7,9, 12, 15.

The data set is already arranged from smallest to largest.

Total number of data is 6. Therefore the median is the mean of 3rd and 4th data.

Therefore the median is

Answer 41MYS.

Consider the data set 10, 3. 17,1, 8.6, 12, 15.
Arrange the data from smallest to largest.

1.3. 6,810, 12, 15, 17

Total number of data is &. Therefore the median is the mean of 4th and 5th data.

Therefore the median is

E+IH=E|

2

Answer 42MYS.
Consider the dataset 7,19, 9, 4, 7. 2.

Arrange the data from smallest to largest.
2.4.7.7,9.19
Total number of data is 6. Therefore the median is the mean of 3rd and 4th data.

Therefore the median is

Answer 43MYS.
Considerthe dataset 2.1, 7.4, 13.9. 1.6, 521, 3.901.

Arrange the data from smallest to largest.
16,21,3901,521,74,139

Total number of data is 6. Therefore the median is the mean of 3rd and 4th data.

Therefore the median is

3.901+5.21
—— = [4.5555
:



